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BCA—-205(N)

B. C. A. (Second Semester)
EXAMINATION, May/June, 2015
| (New Course)
Paper Fifth
MATHEMATICS-II
Time : Three Hours ] [ Maximum Marks : 75
Note : Attempt questions from all Sections as directed.
Section—A 3 each
(Short Answer Type Questicns)

1. (A) Evaluate:
1 p2
.[0 IO (x + y)dxdy

(B) Find where the line x;1=y“2:z+3

-3 4
meets the plane 2x + 4y —z +1 = 0.

(C) Discuss the maximum and minimum of :

u=x2+y* +6x+12

(D) Find % and % when z = log (x2 + yz).,'
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3. (a) Determine whether the ahead Hass diagrams
represent lattice or not.
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(b) IfA, B, C, be sets, then prove : 6

A-(AuC)=(A-B)n(A-C)
4. (8 LetA={a b} 6
- R={(aa).(ba).(b.)}
s = {(a5),(5,0),(5.5)}

Then verify (SOR)™ = R OS.

(b)  If u = €%%; show that : : 6
3
_TU (1430 + PR ) e
Ox dy Oz

5. (a) Out of 880 students, 224 play cricket, 240 play
hockey and 336 play basket ball, 64 play both
basket ball and hockey, 80 play cricket and
basket ball, 40 play hockey and cricket, 24 play
all the three games. How many do not play any
game. 6
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Draw the Hasse diagram of (A, <), where
A ={3,4,12,24, 48,72} and relation < be such
that @ < b if adivides 5.
Find a set of all real numbers x such that [x] =2
Let A = {a,b,c},B = {2,4,6,10} . A relation R
from A to B is given as follows
QW.NV hmﬂ.hu thu nz_ou v”mn nmﬂ—cu write W.h set of
ordered pair.
If . A={,3579.B=1%4,68  and
C={235711} find AnB and ANnC,
What do you conclude ? .
If n (A) =27, n(B)=35and n T»va = 50
find n (A N B).

Section—B

(Leng Answer Type Questions)

Note : Attempt any /wo questions.

2. i)

(b)
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-Transform the equation : 6
?lkuv.&lamlw+nu& =10
dx? dx

where x = sin 0.

State and prove Euler’s theorem. 6
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(b) Iff(x)= log[: 8 x] show that : 6
-x

7@+ 10) = 7(E2)

Section—C
(Long Answer Type Questions)
Note : Attempt any two questions.
6. (a) Find the shortest distance between the line - 6
*=1. y-2 2-3 x=2 _y-3 _ z-4
A T B . e
Hence show that the lines are coplanar.
(b) A variable plane is at a constant distance p from
the origin and meets the co-ordinate axes in A, B,
C. Show that the locus of the centroid of the

tetrahedron OABC is : 6
x2 +y2 422 = 16p~2
7. (a) Change the order of integration 6

I: j; e dx dy and evaluate.

(b) Evaluate : 6
Lm I;Zcos(x + y)aﬁidx
8. (a) Evaluate: 6

b e oo
I_: I_b I_: (x2 + 3% + zz)drdydz
(b) Find the equation of sphere through the circle

x2+y2+22=9, 2x+3y+42=5 and the
pOint (1, 29 3)' 0

9. Find the maximum value of 4 ,  Where
u = sin x sin y sin (x + y). 12
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